

$$\textcircled{18} \quad \frac{\frac{3}{x-4} - \frac{2}{4-x}}{\frac{2}{x-4} - \frac{2}{x}} = \frac{\frac{3}{x-4} + \frac{2}{x-4}}{\frac{2}{x-4} - \frac{2}{x}} \quad \text{lcd} = x(x-4)$$

$$\frac{3x + 2x}{2x - 2(x-4)} = \frac{5x}{2x - 2x + 8} = \frac{5x}{8}$$

Section 6.5

Solving Rational Equations

$$\frac{2}{3}x + \frac{3}{4} = \frac{1}{2} \quad \text{lcd} = 12$$

$$\cancel{12} \cdot \frac{2}{3}x + \cancel{12} \cdot \frac{3}{4} = \cancel{12} \cdot \frac{1}{2}$$

$$8x + 9 = 6 \quad = 8x = -3 \quad = \boxed{x = \frac{-3}{8}} \quad \checkmark$$

$$\textcircled{16} \quad \frac{4x^2 - 24x}{(3x+2)(x-1)} + \frac{3}{3x+2} = \frac{-4}{x-1} \quad \text{lcd} = (3x+2)(x-1)$$

$$4x^2 - 24x + 3(x-1) = -4(3x+2)$$

$$4x^2 - 24x + 3x - 3 = -12x - 8$$

$$4x^2 - 24x + 3x + 12x - 3 + 8 = 0$$

$$4x^2 - 9x + 5 = 0$$

$$(4x-5)(x-1) = 0$$

October 10, 2012

$$4x - 5 = 0$$
$$4x = 5$$
$$x = \frac{5}{4} \checkmark \text{!!}$$

$$x - 1 = 0$$
$$x = 1 \checkmark$$

$$\text{LCD} = (3x + 2)(x - 1)$$

$$3x + 2 = 0$$
$$3x = -2$$
$$x = \frac{-2}{3}$$

$$x - 1 = 0$$
$$x = 1$$

we need to group out $x = 1$

$$x \neq \frac{-2}{3} \text{ or } 1$$

$\frac{0}{k}$!! is okay	$\frac{k}{0}$!! undefined
--------------------------------	----------------------------------

Example

$$\frac{4}{x-2} + \frac{6}{x^2-4} = \frac{2}{x+2}$$
$$(x+2)(x-2)$$

$$\text{LCD} = (x+2)(x-2)$$

$$x \neq -2 \text{ or } 2$$

$$4(x+2) + 6 = 2(x-2)$$

$$4x + 8 + 6 = 2x - 4$$

$$4x + 14 = 2x - 4$$

$$-2x \quad +2x$$
$$2x + 14 = -4$$

$$-14 \quad +14$$

$$2x = -18$$

$$x = -9 \checkmark \text{!!}$$